Available online at http://scik.org

J. Math. Comput. Sci. 6 (2016), No. 3, 451-460

ISSN: 1927-5307

SOME REFINEMENT OF THE INEQUALITY IN QUASI-2-NORMED SPACES AND QUASI-(2; p)-NORMED SPACES

MENG LIU*, MEIMEI SONG

Department of Mathematics, Tianjin University of Technology, Tianjin 300384, China

Copyright © 2016 Liu and Song. This is an open access article distributed under the Creative Commons Attribution License, which permits

unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this paper, we establish a generalization of the triangle inequality and the Dunkl-Williams inequality

in quasi-2-normed linear spaces and quasi-(2; p)-normed spaces.

Keywords: Quasi-2-normed spaces; 2-inner product spaces; Quasi-(2; p)-normed spaces; Dunkl-Williams in-

equality.

2010 AMS Subject Classification: 46B20, 26D15.

1. Introduction

The concept of 2-normed spaces was introduced by Gähler [1] in 1965, and has been de-

veloped extensively in different subjects by others (see [2]). After that, in 1973 and 1977,

Diminnie, Gähler and White introduced the concept of 2-inner product spaces (see [3,4]). In

2006, Choonkil Park [5] introduced the notion of quasi-2-normed spaces. Our aim in this paper

is to present the recent results of sharp triangle inequalities and Dunkl-Williams inequality in

quasi-2-normed linear spaces and quasi-(2; p)-normed spaces.

In 1964, Dunkl and Williams [12] proved that for any two non-zero elements x, y in a normed

*Corresponding author

Received October 29, 2015

451

linear space, then

$$\|\frac{x}{\|x\|} - \frac{y}{\|y\|}\| \le \frac{4\|x - y\|}{\|x\| + \|y\|}.$$
 (1.1)

Moreover, they proved that in an inner product space, the constant 4 can be replaced by 2.

This inequality has some important applications in the study of Banach spaces. It is one of the most fundamental inequality in calculus. Many interesting refinements and reverses of this inequality in normed linear spaces have been given (see[6,7]). Kirk and Smiley, 1964, proved that in this inequality with 2 instead of 4 characterizes inner product spaces. Now we extend it in quasi-2-normed linear spaces.

2. Preliminaries

Definition 2.1. [1] Let X be a linear space of dimension greater than 1 on the field \mathbb{K} and let $\|\cdot,\cdot\|: X\times X\longrightarrow [0,+\infty)$ be a function satisfying the following conditions:

- (1) ||x,y|| = 0 if and only if x and y are linearly dependent,
- (2) || x, y || = || y, x ||,
- (3) $\|\alpha x, y\| = |\alpha| \|x, y\|$ for all $\alpha \in \mathbb{K}$,
- $(4) \| x + y, z \| \le \| x, z \| + \| y, z \|,$

for all $x, y, z \in X$. $\|\cdot, \cdot\|$ is called a 2-normed and $(X, \|\cdot, \cdot\|)$ is called a linear 2-normed space.

It is known that equality holds for every in definition (1.1) part (4) if and only if x and y are linearly dependent with the same direction. It is easy to show that the 2-norm $\|\cdot,\cdot\|$ is non-negative and $\|x,y+\alpha x\|=\|x,y\|$ for all $x,y\in X$ and $\alpha\in\mathbb{R}$.

Example 2.1. In the set consisting of bounded functions of real numbers in interval [a,b]by

$$||f,g|| = \sup_{x \in [a,b]} \sup_{y \in [a,b]} \left| \begin{array}{cc} f(x) & f(y) \\ g(x) & g(y) \end{array} \right|$$

a 2-norm is defined.

Definition 2.2. [2,3] Let \mathbb{K} be the symbol of the field \mathbb{R} or \mathbb{C} and X be a linear space on \mathbb{K} . Define the \mathbb{K} -valued function $(\cdot, \cdot|\cdot)$ on $X \times X \times X$ with the following properties:

- (1) $(x,x|y) \ge 0$; (x,x|y) = 0 if and only if x and y are linearly dependent,
- (2) (x, x|y) = (y, y|x),

- $(3) (x,y|z) = \overline{(y,x|z)},$
- (4) $(\alpha x, y|z) = \alpha(x, y|z)$ for any $\alpha \in \mathbb{K}$,
- (5) (x+x',y|z) = (x,y|z) + (x',y|z),

for all $x, x', y, z \in X$. $(\cdot, \cdot|\cdot)$ is called a 2-inner product and $(X, (\cdot, \cdot|\cdot))$ is called a 2-inner product space.

Example 2.2. [10] Let \mathbb{R}^3 be a Hilbert space with the usual inner product and $(X, \|\cdot, \cdot\|)$ be a 2-normed space. Then by

$$(x,y|z) = \begin{vmatrix} (x,y) & (x,z) \\ (y,z) & (z,z) \end{vmatrix} \qquad x,y,z \in X$$

a 2-inner product is defined.

Definition 2.3. [5] Let X be a linear space. A quasi-2-norm is a real-valued function on $X \times X$ satisfying the following conditions:

- (1) ||x,y|| = 0 if and only if x and y are linearly dependent,
- (2) ||x,y|| = ||y,x||,
- (3) $\parallel \alpha x, y \parallel = |\alpha| \parallel x, y \parallel$ for all $\alpha \in \mathbb{K}$,
- (4) There is a constant $K \ge 1$ such that $||x+y,z|| \le K(||x,z|| + ||y,z||)$ for all $x,y,z \in X$.

The pair $(X, \|\cdot, \cdot\|)$ is called a quasi-2-normed space if $\|\cdot, \cdot\|$ is a quasi-2-norm on X.

It follows from (4) that

$$||x - y, z|| \ge \frac{1}{K} ||x, z|| - ||y, z||$$

and

$$||x - y, z|| \ge \frac{1}{K} ||y, z|| - ||x, z||$$

so,

$$||x - y, z|| \ge \max\{\frac{1}{K}||x, z|| - ||y, z||, \frac{1}{K}||y, z|| - ||x, z||\}.$$
 (2.1)

Example 2.3. [11] Let X be a linear space with dim $X \ge 2$ and let $\|\cdot, \cdot\|$ be 2-norm on X.

$$||x,y||_q = 2||x,y||$$

is quasi-2-norm on X, and $(X, \|\cdot, \cdot\|)$ is a quasi-2-normed space.

A quasi-2-norm $\|\cdot,\cdot\|$ is called quasi-(2;p)-norm (0 if

$$||x+y,z||^p \le ||x,z||^p + ||y,z||^p \tag{2.2}$$

for all $x, y, z \in X$. So, Let X be a quasi-(2; p)-normed space, then we have

$$|||x,z||^p - ||y,z||^p| \le ||x-y,z||^p.$$
(2.3)

3. Dunkl-Williams inequality with two elements in quasi-2-normed spaces

Abrishami[7] has refined Dunkl-Williams inequality in quasi-2-normed spaces and prove the following lemma.

Lemma 3.1. [7] For all non-zero vectors x, y and z in a quasi-2-normed space X with $z \notin \text{span}\{x,y\}$, we have

$$\left\| \frac{x}{\|x,z\|} - \frac{y}{\|y,z\|}, z \right\| \le \frac{K\|x - y,z\| + K\|y,z\| - \|x,z\|\|}{\max\{\|x,z\|,\|y,z\|\}}$$
(3.1)

$$\left\| \frac{x}{\|x,z\|} - \frac{y}{\|y,z\|}, z \right\| \ge \frac{\|x-y,z\| - K|\|y,z\| - \|x,z\||}{K \min\{\|x,z\|, \|y,z\|\}}, \tag{3.2}$$

where $K \ge 1$.

The following result is needed to prove our theorems. It given a equivalent condition of inequality (3.1).

Theorem 3.1. Let X be a quasi-2-normed space with $K \ge 1$. The following statements are equivalent:

(1) For all non-zero vectors $x, y \in X$ and $z \notin \text{span}\{x,y\}$ it is true that

$$\left\| \frac{x}{\|x,z\|} - \frac{y}{\|y,z\|}, z \right\| \le \frac{K\|x - y,z\| + K\|y,z\| - \|x,z\|\|}{\max\{\|x,z\|,\|y,z\|\}}$$
(3.3)

(2) If $x, y \in X$ are such that ||x, z|| = ||y, z|| = 1, then

$$\left\|\frac{x+y}{2}, z\right\| \le \frac{K\|(1-t)x+ty, z\|+K|2t-1|}{2\max\{1-t, t\}}$$
(3.4)

for each $t \in (0,1)$.

Proof. $(1) \Rightarrow (2)$. Assume that the statement (1) holds. Then (1) implies the following

$$\begin{split} \|\frac{x+y}{2},z\| &= \frac{1-t}{2}(1+\frac{t}{1-t})\|x+y,z\| \\ &= \frac{1-t}{2}(\|x,z\|+\|\frac{t}{1-t}y,z\|)\|\frac{x}{\|x,z\|} - \frac{\frac{t}{t-1}y}{\|\frac{t}{t-1}y,z\|},z\| \\ &\leq \frac{1-t}{2}(\|x,z\|+\|\frac{t}{1-t}y,z\|)\frac{K\|x-\frac{t}{t-1}y,z\|+K\|\frac{t}{t-1}y,z\|-\|x,z\|\|}{\max\{\|x,z\|,\|\frac{t}{t-1}y,z\|\}} \\ &= \frac{1-t}{2}(1+\frac{t}{1-t})\frac{K\|x-\frac{t}{t-1}y,z\|+K\|\frac{2t-1}{1-t}\|}{\max\{1,\frac{t}{1-t}\}} \\ &= \frac{K\|(1-t)x+ty,z\|+K\|2t-1\|}{2\max\{1-t,t\}} \end{split}$$

i.e. the inequality (3.4) holds true.

 $(2) \Rightarrow (1)$. Let assume that the statement (2) holds true. Let x and y be arbitrary non-zero vectors in X. Then, if we take that

$$t = \frac{\|y, z\| - \|x, z\| + 2}{4}$$

then by (3.4) we get that

$$\begin{split} \|\frac{x}{\|x,z\|} - \frac{y}{\|y,z\|},z\| &= 2\|\frac{\frac{x}{\|x,z\|} + \frac{-y}{\|y,z\|}}{2},z\| \\ &\leq 2 \cdot \frac{K\|(1-t)\frac{x}{\|x,z\|} + t\frac{-y}{\|y,z\|},z\| + K|2t-1|}{2\max\{1-t,t\}} \\ &= \frac{K\|\frac{2-\|y,z\|+\|x,z\|}{4} \cdot \frac{x}{\|x,z\|} + \frac{\|y,z\|-\|x,z\|+2}{4} \cdot \frac{-y}{\|y,z\|},z\| + \frac{1}{2}K\|y,z\|-\|x,z\|\|}{\frac{1}{2}\max\{\frac{2-\|y,z\|+\|x,z\|}{2},\frac{\|y,z\|-\|x,z\|+2}{2}\}} \\ &= \frac{K\|x-y,z\|+K\|y,z\|-\|x,z\|\|}{\max\{\|x,z\|,\|y,z\|\}} \end{split}$$

i.e. the inequality (3.3) holds true.

Now we are ready to prove the main theorem. A refinement of (1.1) has been obtained by Mercer [14]. Now, we use Mercer's inequality and give a refinement of (3.1) and (3.2).

Theorem 3.2 Let x, y and z be non-zero vectors in a quasi-2-normed space X with $z \notin span\{x,y\}$. We put

$$\beta = \frac{\|x - y, z\|^2 - K^2(\|y, z\| - \|x, z\|)^2}{\|x - y, z\|^2 - (\|y, z\| - \|x, z\|)^2}$$

and β satisfies the condition $\beta > 0$. Then we have

$$-\frac{1}{2}(K^{2}+1)\frac{(\|y,z\|-\|x,z\|)^{2}}{(\|y,z\|+\|x,z\|)^{2}} \cdot \beta$$

$$-\sqrt{(K^{2}+1)^{2}(\frac{\|y,z\|-\|x,z\|}{\|y,z\|+\|x,z\|})^{4} \cdot \beta^{2} - 4\beta \cdot \frac{2(K^{2}+1)(\|y,z\|-\|x,z\|)^{2} - 4\|x-y,z\|^{2}}{(\|y,z\|+\|x,z\|)^{2}}}$$

$$\leq \|\frac{x}{\|x,z\|} - \frac{y}{\|y,z\|},z\|$$

$$\leq -\frac{1}{2}(K^{2}+1)\frac{(\|y,z\|-\|x,z\|)^{2}}{(\|y,z\|+\|x,z\|)^{2}} \cdot \beta$$

$$+\sqrt{(K^{2}+1)^{2}(\frac{\|y,z\|-\|x,z\|}{\|y,z\|+\|x,z\|})^{4} \cdot \beta^{2} - 4\beta \cdot \frac{2(K^{2}+1)(\|y,z\|-\|x,z\|)^{2} - 4\|x-y,z\|^{2}}{(\|y,z\|+\|x,z\|)^{2}}}.$$
(3.5)

Proof. Let $\alpha = \left\| \frac{x}{\|x,z\|} - \frac{y}{\|y,z\|}, z \right\|$. From (3.2) we know

$$\alpha \ge \frac{\|x - y, z\| - K|\|y, z\| - \|x, z\||}{K \min\{\|x, z\|, \|y, z\|\}}.$$

Clearly, we have

$$K|||y,z|| - ||x,z||| - ||x-y,z|| + 2K\min\{||x,z||, ||y,z||\} = K||y,z|| + K||x,z|| - ||x-y,z||$$

so,

$$K||y,z|| + K||x,z|| - ||x-y,z|| \ge K(2-\alpha)\min\{||x,z||, ||y,z||\}.$$

A simple computation shows that

$$\frac{Re(x,y\mid z)}{\|x,z\|\|y,z\|} = 1 - \frac{1}{2}\alpha^2 \qquad \alpha^2 = \frac{\|x-y,z\|^2 - (\|y,z\| - \|x,z\|)^2}{\|x,z\|\|y,z\|}.$$

Therefore,

$$\begin{split} &\|x-y,z\|^2 - \beta\alpha^2 \cdot (\frac{\|y,z\| + \|x,z\|}{2})^2 \\ &= \frac{4\|x-y,z\|^2 \|x,z\| \|y,z\| - (\|y,z\| + \|x,z\|)^2 [\|x-y,z\|^2 - K^2(\|y,z\| - \|x,z\|)^2]}{4\|x,z\| \|y,z\|} \\ &= \frac{4\|x-y,z\|^2 \|x,z\| \|y,z\| - (\|y,z\| + \|x,z\|)^2 \|x-y,z\|^2}{4\|x,z\| \|y,z\|} \\ &+ \frac{K^2(\|y,z\| - \|x,z\|)^2 (\|y,z\| + \|x,z\|)^2}{4\|x,z\| \|y,z\|} \\ &= \frac{-\|x-y,z\|^2 (\|y,z\| - \|x,z\|)^2 + K^2 (\|y,z\| - \|x,z\|)^2 (\|y,z\| + \|x,z\|)^2}{4\|x,z\| \|y,z\|} \\ &= \frac{(\|y,z\| - \|x,z\|)^2}{4\|x,z\| \|y,z\|} \cdot [(K\|y,z\| + K\|x,z\|)^2 - \|x-y,z\|^2] \\ &= \frac{(\|y,z\| - \|x,z\|)^2}{4\|x,z\| \|y,z\|} [K\|y,z\| + K\|x,z\| - \|x-y,z\|] [K\|y,z\| + K\|x,z\| + \|x-y,z\|] \\ &\geq \frac{(\|y,z\| - \|x,z\|)^2}{4\|x,z\| \|y,z\|} K(2-\alpha) \min\{\|x,z\|,\|y,z\|\} (K\|y,z\| + K\|x,z\| + \|x-y,z\|] \\ &+ \max\{\frac{1}{K}\|x,z\| - \|y,z\|,\frac{1}{K}\|y,z\| - \|x,z\|\}) \\ &\geq \frac{(\|y,z\| - \|x,z\|)^2}{4\|x,z\| \|y,z\|} K(2-\alpha) \frac{K^2+1}{K} \|x,z\| \|y,z\| \\ &= \frac{K^2+1}{4} (2-\alpha) (\|y,z\| - \|x,z\|)^2. \end{split}$$

Hence,

$$||x-y,z||^2 - \beta \alpha^2 \cdot (\frac{||y,z|| + ||x,z||}{2})^2 \ge \frac{K^2 + 1}{4} (2 - \alpha)(||y,z|| - ||x,z||)^2$$

Therefore,

$$\alpha^2 - \alpha (K^2 + 1) \frac{(\|y,z\| - \|x,z\|)^2}{(\|y,z\| + \|x,z\|)^2} \beta + \frac{2(K^2 + 1)(\|y,z\| - \|x,z\|)^2 - 4\|x - y,z\|^2}{(\|y,z\| + \|x,z\|)^2} \beta \le 0$$

So, α is between two roots of the quadratic equation

$$\lambda^{2} - \lambda (K^{2} + 1) \frac{(\|y, z\| - \|x, z\|)^{2}}{(\|y, z\| + \|x, z\|)^{2}} \beta + \frac{2(K^{2} + 1)(\|y, z\| - \|x, z\|)^{2} - 4\|x - y, z\|^{2}}{(\|y, z\| + \|x, z\|)^{2}} \beta \leq 0$$

Hence, we get (3.5). This completes the proof.

4. Triangle inequality in quasi-(2;p)-normed spaces

In this section ,we refine triangle inequalities in quasi-(2;p)-normed spaces.

Theorem 4.1 Let X be a quasi-(2;p)-normed spaces on the field \mathbb{K} . For all $z, x_1, ..., x_n \in X$ and $a_1, ..., a_n \in \mathbb{K}$, we have

$$\|\sum_{i=1}^{n} a_i x_i, z\|^p \le \min_{1 \le j \le n} \{|a_j|^p \|\sum_{i=1}^{n} x_i, z\|^p + \sum_{i=1}^{n} |a_i - a_j|^p \|x_i, z\|^p\}, \tag{4.1}$$

$$\|\sum_{i=1}^{n} a_i x_i, z\|^p \ge \max_{1 \le j \le n} \{|a_j|^p \|\sum_{i=1}^{n} x_i, z\|^p - \sum_{i=1}^{n} |a_j - a_i|^p \|x_i, z\|^p \}.$$

$$(4.2)$$

Proof. For a fixed $1 \le i \le n$, we have

$$\begin{split} \| \sum_{i=1}^{n} a_{i}x_{i}, z \|^{p} &= \| \sum_{i=1}^{n} a_{j}x_{i} + \sum_{i=1}^{n} (a_{i} - a_{j})x_{i}, z \|^{p} \\ &\leq \| \sum_{i=1}^{n} a_{j}x_{i}, z \|^{p} + \| \sum_{i=1}^{n} (a_{i} - a_{j})x_{i}, z \|^{p} \\ &\leq |a_{j}|^{p} \| \sum_{i=1}^{n} x_{i}, z \|^{p} + \sum_{i=1}^{n} \| (a_{i} - a_{j})x_{i}, z \|^{p} \\ &= |a_{j}|^{p} \| \sum_{i=1}^{n} x_{i}, z \|^{p} + \sum_{i=1}^{n} |(a_{i} - a_{j})|^{p} \|x_{i}, z \|^{p}. \end{split}$$

By taking minimum over i = 1, ..., n, we obtain (4.1). Now, we have

$$\|\sum_{i=1}^{n} a_{i}x_{i}, z\|^{p} = \|\sum_{i=1}^{n} a_{j}x_{i} - \sum_{i=1}^{n} (a_{j} - a_{i})x_{i}, z\|^{p}$$

$$\geq \|\sum_{i=1}^{n} a_{j}x_{i}, z\|^{p} - \|\sum_{i=1}^{n} (a_{j} - a_{i})x_{i}, z\|^{p}\|$$

$$\geq \|a_{j}\|\sum_{i=1}^{n} x_{i}, z\|^{p} - \sum_{i=1}^{n} \|(a_{j} - a_{i})x_{i}, z\|^{p}$$

$$= \|a_{j}\|\sum_{i=1}^{n} x_{i}, z\|^{p} - \sum_{i=1}^{n} |(a_{j} - a_{i})|^{p} \|x_{i}, z\|^{p}.$$

By taking maximum over i = 1, ..., n, we obtain (4.2).

Theorem 4.2 Let X be a quasi-(2;p)-normed space. For all $z, x_1, ..., x_n \in X$ and $a_1, ..., a_n \in \mathbb{K}$ the following inequalities hold true

$$\|\sum_{i=1}^{n} a_{i}x_{i}, z\|^{p} \ge \|x_{1}, z\|^{p} \|\sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i}, z\|}, z\|^{p} - \sum_{i=1}^{n} |\frac{1}{|a_{i}|} \|x_{1}, z\| - a_{i} \|x_{i}, z\||^{p},$$

$$(4.3)$$

$$\|\sum_{i=1}^{n} a_{i}x_{i}, z\|^{p} \leq \|x_{n}, z\|^{p} \|\sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i}, z\|}, z\|^{p} + \sum_{i=1}^{n} |a_{i}\|x_{i}, z\| - \frac{1}{|a_{i}|} \|x_{n}, z\||^{p}.$$

$$(4.4)$$

for 0 .

Proof.

$$\begin{split} \| \sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i}, z\|}, z \|^{p} &= \| \sum_{i=1}^{n} \frac{a_{i}x_{i}}{\|x_{1}, z\|} + \sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i}, z\|} - \sum_{i=1}^{n} \frac{a_{i}x_{i}}{\|x_{1}, z\|}, z \|^{p} \\ &\leq \| \sum_{i=1}^{n} \frac{a_{i}x_{i}}{\|x_{1}, z\|}, z \|^{p} + \| \sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i}, z\|} - \sum_{i=1}^{n} \frac{a_{i}x_{i}}{\|x_{1}, z\|}, z \|^{p} \\ &= \frac{1}{\|x_{1}, z\|^{p}} \| \sum_{i=1}^{n} a_{i}x_{i}, z \|^{p} + \frac{1}{\|x_{1}, z\|^{p}} \| \sum_{i=1}^{n} \frac{\|x_{1}, z\| - a_{i}\|a_{i}x_{i}, z \|}{\|a_{i}x_{i}, z\|} x_{i}, z \|^{p} \\ &\leq \frac{1}{\|x_{1}, z\|^{p}} \| \sum_{i=1}^{n} a_{i}x_{i}, z \|^{p} + \frac{1}{\|x_{1}, z\|^{p}} \sum_{i=1}^{n} |\frac{1}{|a_{i}|} \|x_{1}, z \| - a_{i}\|x_{i}, z \||^{p} \end{split}$$

so,

$$\|\sum_{i=1}^{n} a_{i}x_{i}, z\|^{p} \ge \|x_{1}, z\|^{p} \|\sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i}, z\|}, z\|^{p} - \sum_{i=1}^{n} |\frac{1}{|a_{i}|} \|x_{1}, z\| - a_{i} \|x_{i}, z\||^{p}$$

Further,

$$\begin{split} \| \sum_{i=1}^{n} \frac{a_{i}x_{i}}{\|x_{n},z\|}, z \|^{p} &= \| \sum_{i=1}^{n} \frac{a_{i}x_{i}}{\|x_{n},z\|} + \sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i},z\|} - \sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i},z\|}, z \|^{p} \\ &\leq \| \sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i},z\|}, z \|^{p} + \| \sum_{i=1}^{n} \frac{a_{i}x_{i}}{\|x_{n},z\|} - \sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i},z\|}, z \|^{p} \\ &= \| \sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i},z\|}, z \|^{p} + \frac{1}{\|x_{n},z\|^{p}} \| \sum_{i=1}^{n} \frac{a_{i}\|a_{i}x_{i},z\| - \|x_{n},z\|}{\|a_{i}x_{i},z\|} x_{i}, z \|^{p} \\ &\leq \| \sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i},z\|}, z \|^{p} + \frac{1}{\|x_{n},z\|^{p}} \sum_{i=1}^{n} |a_{i}\|x_{i}, z \| - \frac{1}{|a_{i}|} \|x_{n}, z \||^{p} \end{split}$$

so,

$$\|\sum_{i=1}^{n} a_{i}x_{i}, z\|^{p} \leq \|x_{n}, z\|^{p} \|\sum_{i=1}^{n} \frac{x_{i}}{\|a_{i}x_{i}, z\|}, z\|^{p} + \sum_{i=1}^{n} |a_{i}\|x_{i}, z\| - \frac{1}{|a_{i}|} \|x_{n}, z\||^{p}$$

This completes the proof.

Conflict of Interests

The authors declare that there is no conflict of interests.

REFERENCES

- [1] S. Gähler, Linear 2-normierte Räume, Math. Nachr. 28 (1965), 1-45.
- [2] R.W. Freese, Y.J. Cho, Geometry of linear 2-normed space, Nova Science Pub Inc. Hauppauge. (2001), 1-297.
- [3] C.R. Diminnie, S. Gähler, A. White, 2-inner product spaces I, Demonstr. Math. 6(1973), 525-536.
- [4] C.R. Diminnie, S. Gähler, A. White, 2-inner product spaces II, Demonstr. Math. 10(1977), 169-188.
- [5] C. Park, Generalized quasi-Banach spaces and quasi-(2; p)normed spaces, J. Chung. Math. Soc. 19(2006), 197-206.
- [6] Y.J. Cho, S.S. Dragomir, C.S. Lin, S.S. Kim, Y.H. Kim, Some Pečarićs type inequality in 2-inner product spaces and applications, J. Math. 12(2008), 257-372.
- [7] M. Abrishami, On the triangle inequality in quasi 2-normed spaces and a new characterization of 2-inner product spaces, Pure and Applied Sciences. 3(2014), 433-437.
- [8] A. Najati, M.M. Saem, J.H. Bae, Generalized Dunkl-Williams inequality in 2-inner product spaces, Journal of Inequality and Applications. 36(2013), 1-8.
- [9] A. Malčeski, R. Malčeski, K.Anevska, S.Malčeski, A Remark about Quasi 2-Normed Space, Appl. Math. Sci. 9 (2015), 2717-2727.
- [10] R. Malčeski, L. Nastovski, B. Načevska, A. Huseini, About the strictly convex and uniformly convex normed and 2-normed spaces, International Journal of Scientific and Innovative Mathematical Research. 2(2014), 603-610.
- [11] M. Kir, M. Acikgoz, A Study Involving the Completion of a Quasi-2-Normed Space, International Journal of Analysis. 2013(2013).
- [12] A. Malčeski, A. Malčeski, Inequalities of Dunkl-Williams and Mercer Type in quasi-normed space, International Journal of Scientific and Innovative Mathematical Research. 3(2015), 67-70.
- [13] C.F. Dunkl, K.S. Williams, A simple norm inequality, Am.Math.Mon. 71(1964), 53-54.
- [14] P.G. Mercer, The Dunkl-Williams inequality in an inner product space, Math. Inequal. Appl. 10(2007), 447-450.